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FERE26404 B KIRTE
AB

+ - 3
X 72,070 158,168 75,640 82,528 | =& ILUETAT 740 1,888 895 993
E 4622 10,095 4684 5,411
BEKET1T 875 1,880 908 972 |IREFZH2T 1,398 3,248 1,561 1,687
BEKET2T 351 844 407 437 5 1,398 3,248 1,561 1,687
B 1,226 2,724 1,315 1,409 |[R=E~,EB1T 103 282 141 141
< FE] BT 8,458 20,448 9727 10721 |[R=E~ ER2T 263 524 248 276
Lt RER1T 340 552 272 280 |R=E~ EBT3T 437 986 477 509
Tt RERT2T 222 427 197 230 |R=E~ EBT4T 193 360 168 192
Lt RER3T 278 498 270 228 |R=E~EB5T 366 665 354 311
Lt RERT4T 170 305 152 153 5| 1,362 2,817 1,388 1,429
Lt RERST 138 291 145 146 | KZIFAT1T 744 1,681 788 893
Tt ERERGT 95 245 116 129 | KEZFET2T 911 1,956 946 1,010
TtERER7T 71 161 76 85 §t| 1,655 3,637 1,734 1,903
Tt ERERST 123 217 114 103 | RERTT 66 164 75 89
g 1,437 2,696 1,342 1,354 [ RERT2T 152 343 176 167
tfEBET1T 208 458 219 239 (BB RER3T 160 234 74 160
tfEBET2T 1,113 2,528 1,193 1,335 |FARERTAT 244 423 163 260
tfEBET3T 899 1,729 853 876 B RERST 138 317 149 168
tfEBET4T 879 2,003 997 1,006 Hi 760 1,481 637 844
g 3,099 6,718 3,262 3,456 |F{E AMET 2,101 4,869 2,389 2,480
ERATET1T 630 1,607 806 801 |EA&HT 241 458 232 226
ERATET2T 320 755 364 391 |BEEERMET1T 259 497 232 265
ERATETST 360 835 399 436 |BEE ERMET2T 461 944 470 474
g 1,310 3,197 1,569 1,628 (BEEFRMATST 658 1,477 713 764
==Yl 1,017 2,225 1,057 1,168 (B E B RIMET4T 615 1,296 652 644
HEWEET 241 513 240 273 |BEEERMETST 689 1,659 803 856
HERE2T 395 703 317 386 5| 2682 5,873 2,870 3,003
HEWREIIT 265 491 257 234 |BEEEMEILET1T 235 408 193 215
HEWE4AT 146 310 141 169 (BT BiEitET2T 395 854 411 443
B 1,047 2,017 955 1,062 | EBH#EILEIST 519 1,081 518 563
HEREET 1,634 3,284 1,507 1,777 | B#ELET4T 582 1,268 610 658
HEREET2T 3,134 6,734 3,208 3526 |BEEMBILATST 733 1,696 827 869
HEFETST 3,078 6,208 2,818 3,390 B 2,464 5,307 2,559 2,748
HEFETAT 2,262 4,484 1,990 2,494 |EEBHEET1T 963 1,918 918 1,000
HEREEIST 1,250 2,703 1,305 1,398 (B E BiBHT2T 150 315 164 151
5| 11,358 23413 10,828 12,585 |BEE#EEI3T 2,147 4,555 2,204 2,351
HUEET1T 761 2,175 1,056 1,119 B 3,260 6,788 3,286 3,502
HYERT2T 516 1,309 651 658 |BEETZET1T 641 1,437 678 759
g 1,277 3,484 1,707 1,777 | BBl zET2T 488 1,052 502 550
MEET 447 1,019 506 513 | BEERZEI3T 327 794 384 410
EET2T 307 778 374 404 B 1,456 3,283 1,564 1,719
g 754 1,797 880 917 |BEEEARETTT 651 1,297 644 653
WHAEET1T 723 1,896 906 990 |BEEEARET2T 248 599 300 299
WHEEET2T 218 501 241 260 | B EEARETST 1,030 2,800 1,363 1,437
RT3 T 699 1,519 745 774 B 1,929 4,696 2,307 2,389
g 1,640 3,916 1,892 2024 |EEBMEmRET1T 307 682 327 355
RKEIRAT 5404 12,291 5,966 6,325 |BE BMEmET2T 223 494 243 251
hRERTT 266 541 249 292 |BEE EEBET3T 584 1,291 636 655
hRER2T 209 370 163 207 g 1,114 2467 1,206 1,261
hRERST 227 493 250 243 |J\TFdt 95 201 96 105
hRERT4T 267 539 254 285
B 969 1,943 916 1,027
o A BT 603 1,248 601 647
hEEEET1T 560 1,183 552 631
hEEEET2T 759 1,275 603 672
hEEEETST 432 1,079 511 568
hEEEET4T 680 1,368 672 696
hEEEEST 824 1,705 831 874
hEEEET6T 3,306 6,374 3,046 3,328
5t| 6,561 12,984 6,215 6,769
P =T 771 1,847 895 952
BAFBILETTT 1,047 2,190 1,043 1,147
BXEFILET2T 998 2,267 1,123 1,144
BEAEFILAIST 1,837 3,750 1,623 2,127
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